e fefefed & @ e sivg das
' g foren T ST | 7
(A) SR ST
(B) T B
(C) ¥IEATA dqad!
(D) T3
“Godan” is the novel written by whi
: h of
the following famous author ? yEe
(A) Jaishankar Prasad
(B) Suryakant Tripathi
(C) Makhanlal Chaturvedi
(D) Munshi Premchand

2. ﬁﬂ%ftiaﬁﬁaﬁqmmrﬂaﬁa

TR TEAR R ? _
(A) Y@ (B) ORI U
©) wafomar (D) o it

Which of the following is the highest
civilian award of India ? '

(A) Bharat Ratna

(B) Padma Bhushan

© Padma‘Vibhushan

(D) Padma Shri

s Peffen d @ fe Rr A oww F |

| ‘féﬁmﬁaw%mﬁmm%?
‘ (A 15 7T (B) 265l
(C) 267EH (D) 30 feEst

Which of the following days is |
«“Constitution ~ Day

celebrated  as
-(Samvidhan Divas)” in India ?
(A) 15" August (B) 26" January
(C) 26™ November (D) 30" December
4. ﬁzzﬁﬁaﬂﬁﬂfﬁmﬁﬁﬁzﬂwﬁl@é\m
o 5 .
(% <& B)
(C) T (D)

iy

Acid” ?
-~ A curd
: '*,-,;,_;-_ 'hsp“\ach

L
T

- {
(B) Vinegar
(D) Tamarind

Which of the following contains “Lactic |}

& SN NS VA OV WS :
WL O A AT paraaLon TP Vel (RN PILN TV & PO PIERCEVR BN e gy
YR R PRI VA AR PRTTN TR st ﬂ

(4) TEE (@) wewy Pk
“Gydi Padva” is a spring-time festival of
which of the following States ?

(A) Uttarakhand

(B) Maharashtra

(C) Himachal Pradesh

(D) Gujarat

- (B) A A

(®) ?ﬁmaﬂiwﬁa’m

(D) TR HATTA

The responsibility of conducting the

decadal census rests on which of the

following ministries ?

(A) Ministry of Housing and Urban
Affairs

(B)* Ministry of Planning

(C) Ministry of Information and
Broadcasting

() Ministry of Home Affairs

Ty AHEER AR H e
e § Q el fR@R ?

(A) TR ®) I

@ Wit (D) T

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

(A) Bengaluru (B) Mumbai

(C) NewDelhi (D) Mysuru

. T e AR o T B

What is the helpline number to register 2
complaint for Cyber Crime ?

(A) 1910~ (@) 1920

(© 1930 = (p) 1940

cwevd
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10.

11.

12.

(D) Maharashtra

PO PITEO CSTR PTN P STLNTETE QNPT

(0o} &;ﬁf%ﬂmw%?
(B) & ATIHT, Hehed AN

(C) Ha, i,
(D) e, g, ah 4

Wh-at is the tagline of Uttar Pradesh
Police ? '

(A) Satyamev Jayate

(B) Suraksha Aapki, Sankalp Hamara
(C) .Seva, Veerta, Bandhuta

(D) - Seva, Suraksha, Shanti

T ¥ frrferes 3 & Tore oy 3 R @ 7
(A) IS (B) =dEd

(C) (D)

Aryabhatta  Research Institute  of
Observational Sciences is located in
which - of the following districts of
Uttarakhand state 7~ . "

(A) Almora - (B) Champawat
(C) Nainital . . (D) Chamoli

G20 FI QU ET FTE 7

(a) mawFEd

(B) TR FEEE

© T

(D) Tt FHTH T

What is the full form of G20 ?

(#) Group of Twenty .

(B) Gathering of Twenty.

(C) Grand Twenty

(D) Glory of Twenty :

s 1 A we1 - farig s

W am" W” ﬁ.q-%r%—d ﬂ,

3 fopg Tsa < g gl & R e ?
@ SR

(D) TERE

largest inter—departmental

convergence program “Operation Kayakalp”

was launched by the Government of

which of the following states ?

(A) Himachal Pradesh

(B) Uttar Pradesh

(C) Gujarat

13.

14.

15..

16.

VA B HOWL A O P ..
OV DS NI Vo OO PN O Vil OO PO Ty
TV

- (©) EH

W 3 Tt Sfeadt 1 e wa TR
Freferf @ frads g st fran
RIC TR 1

(A) heTeht TR Y

(B) . T wfufy

(C) wuw afirfa

(D) hafufa

The idea of a nationwide GST in India
was first proposed by which of the

following ?

(A) The Kelkar Task Force
(B) C.Rangarajan Committee
(C) . Basel Committee

(D) Rekhi Committee

s o Fretad § | S 8 ISl o
e 35 g vifty e AT T H € ?
(A) TER (B) U

@) wTeEE

Which of the following neighbouring
countries of India does not share land

boundaries with India ?
(A) Myanmar (B) Nepal
(D) Maldives

(C) Bhutan

‘ ‘ﬁmﬁ”qﬁm%ﬁnﬁf&aﬁ%miﬂr
I qET 8 7

(A) 9IS B) =

(C) A (D) STl

«Tokyo” is the capital of which of the
following countries of Asia ?

(A) Thailand (B) China

(& Japan (D) Bali

Hgad o9 AR H fRm wis Sfwm
Aot 2 et 7 g P et
T T ?

(A) ESWA (B) wERmeY

(©) (D) ITHW

The Grand Canyon located in

: th i
Sta_tes of America was carvede clzo{:tmgd
which of the following rivers ? 7
(A) Hudson (B) Colorado
(C) Columbia (D) Yukon

QDN P N ' e ATV,
PIRTATS PR OO WL IOV A AON P RITA T O\
! LY Y
POUT Iy
Y

DH-1
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x 3 1 2 fopel et @ 7 21, ffafea & & fra dfvm & 59 78
7. ke FreAferfEd 53 : ¥ el (sTE0) = fewmea fevam o s A
(A) TS HT (B) 5'."'" TETHPR ATl | T AT ?
) fcemeam (D) et <t @St (A) o JeTrel
The Narmada falls in which of the % gﬁ%ﬁ'ﬁfﬂ%ﬂ T Ty
following ? , " (D) gﬁﬁﬁ:ﬁﬁu
(A) The Arabian Sea v}slzho l?mélmg theffollowing had desfigr:ﬁd
i ‘ t rders of eve age O e
(B) The Pac_lﬂc Ocean g . cgnstii?ution and adorglc ?t with art
(C) The Indian Ocean o | ieceSS‘{'lr el T4 Boss
. - i Na
(D) The Bay of Ben gal Y. T ﬁ Shri Prem Behzgi NRarain Raizada
_ N : ARIRH W C) Shri Sayed Haider Raza
18 mrﬁﬁ%mwﬁwaﬁ?ﬂz D _ShriJarbrfliniRoy _
st aaﬁamﬁaﬂtmﬁﬁw%ﬁw
) s (© = the statu (D% Tamii poet and
R : : ly, the statue o
N.ar.ne -the songFi:a d‘;{hwh dc;l:;;;a;: at::g gheﬁce)lslct)gher Thiruvalluvar ‘has been
lell'lc.t love of dha an unveiled at which of the following
especially popular in Braj. e " countries of the world ? _
(A) Khayal '(B) Charkula ' (A) France (B) Brazil
(©) Kari (B Rasiva - (C) Hungary (D) Switzerland
v ) e 8 e s [ 2 2016 R € b
19. 99 ‘ H{d : ¢
@ T fraEl i gfaw & fig edre- A) fagad
fis” (Paat-Mitro) (e dr=aHi1g ? | (B) ﬁwﬁmﬁz
(A) g (%@d) (B) w9 8 ot we.%. Frsamt
cow™m - (D) A Who among the following was the Prime
- ' ) Mini Indi he ti f
Ministry of Textiles has launched | -Dcmlztrf;tisgtt;on ofljgolgt? the time o
“Paat-Mitro” application to'. facilitate . Shri Narendra Modi
farmers producing which of the follp@g? (B)" Shri Manmohan Singh
(A) Jute ~ (B) Cotton_ - © Shr; Atal Bihari '}/ajpayee
(C) Silk ‘ (D) WOO]‘. . ' (D) Shri L.K. Advani
. i : 24, SwrEdt "y & fAafafag o
20, g frafafea @ @ fee o= F w=@ msmﬂ;;ﬁﬂg%gﬁ 2 % A
AR HeAT Ao R 7 (A) TART (B) HEmT
(A) faEr (B) ufv=m &M (©) i fodla (D) wheqa
N R o) _ | _ ani?p}ﬁavatg t}(l}up;a"wag. the faughter of
: i 31.'%3“ . ich of the following rulers of the
“Thangka” is the most popular art form CRtha Empire ?
> of which of the following states ? gB)) Is(glnﬁ?éfauplfat
(A) Bijhar (B) A West Bengal ©) Chandraggu;?t: 1I
Qdisha | (D) Skandagupta

RO KM TR SN PIREA TR PR S ez i
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25.

26.

Fd ¥ events of Indian National

-

27.

BN PRI TETE O y B
PERILNTI VR AN PRTLHNTET L FZch PeVILS N
CEVR SN PO
' N P YW ST 00 P SIS VA A PTEA TR S PN PONPIT
A

Search ExamsResultinfo.Com in Google '

(D) i@ .
An economy in which there is both the
or and the Government, is

ﬂﬁtxf azewithich of the following ?
(A) Outcrossed Economy

(B) Hybrid Economy

(C) Merged Economy

(D) Mixed Economy

' Rabindranath Tagore had renounced his
~ “Knighthood” and expressed his pain

and anger after which of the following

Movement ?

The Jallianwala Bagh Massacre -
(B) A baton charge of police on Lala
~ Lajpat Rai =
' (C) Partition of Bengal '

(D) Komagata Maru Incident -

i i FrReRen i & Pred i € 7

(A) THTE IATeH s Foon

(B) =AU I |

(C) A-ITeAT IcIe '

@) F@wmm

“Blue Revolution” is related to which of

the following ? _ i

(A) Cotton Production

(B) Dairy Production
(C) Fisheries Production

31.

(Bju Water Pollution |

29,

30.

(C) Canara Bank

fefreer ot
(A) AT Feeiren (v ikl
B) "R (Din oter Helpline)
© %F“F”W DigiLocker)
(D) 3T (UMANG)
Wﬁichqmﬁﬁ ¥4 (PMO India)
s ¢ following application aims at
profid' mpowerment” of citizen’s by
documggts ?cces's' o e dighs
E’\?’allet? 0 citizens digital document
A)  Voter Helpline (B Digi

igiLocker

(€) UMANG (D) PMO Indii
gﬁé & 4, I wew % o 3 & fra
et § yom quf-aferer e e T
ST fRar T R 7
(A) Ty

(Cy I (D) EH%I
Recently, first all-girls Sainik School has

been inaugurated at which of the
following district in Uttar Pradesh ?

(™" B o

(B) ©@TH

Iﬁﬂ%‘?@ﬁﬁﬁﬁ‘éﬁﬁRuPayﬁﬁi%q‘i
ST 51 UEE SHITRE hise hrs efied a8 7
C(A) - STEHATEHATE B —

(B) . Wi w2z 3% (o)

(C) FER

(D) 3SHEEdD fes
e following banks - has

Which - of th
launched India’s first Corporate Credit

Card on RuPay network ?

_(A), ICICIBank

State Bank of India (SBI)

(D) * IndusInd Bank '

Arafifad § & B TRl € fafies
TeTh 8 7 ‘
(A) TR 2T
(B) @ SHrESHt ft 2ret
(C) T aRTEs!
(D) T AL g
the following was the

Who among lowr
founder of Tata Steel Limited ?

(A) Sir Nowroji Tata )
(B) Sir Jamsetji Nusserwanjl Tata
(C) Sir Dorabji Tata .
(D) Sir Naval Tata - s
DH-1

nned with CamScanne

Sca


Search ExamsResultInfo.Com in Google


32.

N 2006 % :
& 1 AR ot ity 7t RN 78 & Rt sy -
) ? et =) SR T Ty
@) T ® @ W T
The son et & P .
€ State government shall anpna: ' A) fEy
Lr;angd-(;ollector” (not énclud?glg)(;l;lstisllgx ©) ﬁm:rg;ﬁm T
0 E:l itional collectors) ag per The Utta (D) ﬁm"iaT&m
( fr\a esh Revenue Code, 2006 9 f Which  of the followin .
(C) One B) Two comprehensive and vis; s >
) Three . Slonary initjatjye
“ ﬁ ([)) Four that aims to €mpower women for saf;
. I 1 WRER 39 AR security and self-reliance - o,
IR 61 et e Rt 3 7 i Uttar Pradesh ? v i the State of
8 eng}elsgltltJughat is the sanctioned (A) Mission Shakti
Judicature a¢ Al%gﬁaggé}}?e High Court of (%) Mission Vanita
180 (B).' 170° (C) Mission Sunita
160 D) 150 (D) Mission Vaminj
, e W 37. '
ST e 7 0 0
(B; zg’ﬁﬁ'dw&a T R W T g 7
© f o ﬁ;? .. B
-0 among the f()l] A State order of Uttar Prad h
Chief Minister of the Sotggl §fgas the first not t01_1c:h to the border of whi:}? of(‘i 2]:8
after the Independence of Tngiq o OC following states 2 )
(A)  Shri Gobind Ballabh pap & Telangana (@) pipyr
- Shri Kalyan Singh (©) Uttarakhand (D) Haryan;
(© Shr% Yogi Adityanath 38 aﬁavﬁ ‘
(D) Shri N.D. Tiwari P T Y R et IR
35. A W yma ¥ ek ﬁ\:}[ | ﬁﬁ"“ﬁ“’i@mﬁﬁm?j
m/mm.ﬁmmmj (&) 3feriet sien |
'i'éﬂﬁl fertrera e (BHS) % 7 (B) St sier .
@ st ®) © it sgen R
‘Yzlya Tas ) SEavEwR | ©) R '
Ya 150" is the first Biodjversit The high -
Heritage Site (BHS) situated in wlriirﬁlg Anamxfli i;t tp'e ak " Southern India is
the following States/UTs of India ? follow ° I8 Situated in which of the
~ (A) Himachal Pradesh, - , ‘ @) \;ng.mountam ranges ?
B) L elikonda Range
adakh (B) Balagh
(C) Uttarakhand © alaghat Range
(D) Jammu & Kacho ) N%lgm Range
Fﬁo:""fm‘ PN P TN TSV N PETLN TP MTP Plsivmwm PO POTLNTTF R OBH PATIHN CHVR O, (D) Vlndhya Range
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39.

40.

41.

42.

43,

44.

&) - (B) s
© (D) I
forforiea & & = w1 wreg w2 7

() T= (B) diw
(C) Hiaett (D) i

e Sy T ¥ % e
(A) gﬁg?,_am.
(B , TRt
) LT, ST
(D) e, 9gEm™
e - ST
(A) e -
(B) %a%wmng} et
(C) T g A - AW

wee-gm fafg sk
i
(A)

- (©) Tier-wm

(D) ﬁ'q'f-f%m'q'r%a

(B) M G H I MR A ?
© Ejﬁﬁﬂﬁﬁaﬁmmmaﬁ

EE‘; (D) HvHRH wE @@ o § |

45.

46.

47.

?ﬁahﬁ@ﬁﬁmmm
2

(A) T3 - = ) af- aﬁm
(© - (D) e -

T A, T TEA TG 7

(A) T B) T

€ g (D) aqd

13 7 ) et & 1 e e
Gﬂ?m?ﬂwé?

(A) SUCHHNH (B) &Y FHRS
C) FOFEH (D) HIEHBRF -

49,

50,

1.

52,

54.

55.

fefefes & & omg o @1 = |5
Hife :

(A mﬁgﬁmﬁ@m |

(D) ar%ﬁa‘rtmnr

(A) %“W
) S - 2739135 o e
) T e e

st

(B) Y + Iy

W s ©)

©) wwwfE () NS

TR Wﬁﬁ:{mﬁ@w% )
(A)  HEATaT fasraw

(B) T R

(C) . TuraTE faiaur

(D) gRETOTETE fastor

= 3 @ v B &1 g B @
27 |

(A) WA I A TR |

(B) w7 fgeii @l |

(C) TWBAWR |

TR AN ATICPA SUNPPTEA T PR QN PCT N TV
DH-1



56,

My

3T S "%W%ﬂﬂﬂam |

@ mmnra‘chnm
(B) WW

57.

S8.

59, ¢

60.

61.

&,

03T

64,

F=fofas §
(A) ‘g&HR

) PrEng

PN PSPy

FF m‘wm'wvdmwovzar:wrxm
DH-1 :

IHTCTRE 3 %ﬁ?mmaﬁmﬁm
e HHag TE 2 ¢ '

(B) & .
(D) Te=

PN PN TV FANp

|65.

167.

o | SR w78 Hifye |
SO

TEHN TV M8 Perron O ¥l

66. ¢

Wﬁ‘sﬁ:ﬁmﬁaﬁma&hﬁ

- AR 9 |

(B) W?m‘ﬁ%ﬁ%smﬁﬁm{mm
I 9

(C) Wﬁ?mﬁmaﬁaﬁ
g I

&)

T T R ) ane sw
TEE
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68.

69.

70.

71.

72.

73.

74.

75.

76.

T SR G S0 ) R = R 7
(A Toreft 1 Ty

(B) 1 1wkt sy

(O o s Wism ey

(D) 9T9 T 3= @1

.'ﬁﬁaﬁmﬁﬁmma?

A et

(B) SRISTRH

(€) sftrs =t

B A HFH IR R

TR et 3 @ et w3 2
(A) gEFE YT (B) wheiy
(O g (D) - ARreferor i
e st P 84 e 8 7
A4) Wt (B S
© TEE (D) ghewe
%aw%aw%mgﬁ?

@ Tl B) e

©) ¥ (D) Iy

‘a—gﬁmww%rwmﬁﬁqm

? 7
(C) vRwTET=S - fysor
(D) = fran-fsigo
ﬁﬁ%ﬁaﬁﬁ‘ﬁ’wwwm
IHATTER 7
(A) Hme (B) getrrm.
Al el vz Rer-a r wd
a1 frafefea 1 4 S -
(A) fem@-anft (B) s - R

(O wdR-fmm (D) fmw -

‘3@l % | T % fr R

o 8wl g o g 7
(A) T (B)
(©) wi% . (D) W

77.

by oo - A TR A R PO T PR (A PO TS T 0N s STV LAY A -
PIUTNCEFTR S0 ATIFFA SRS P FVEN T Fal S0 R Lok NP PEUTN DN PEUDA TN SN L »
. 1 Vi G- TATIY L&D
y T EATI A CON PRI TS TN J
L " DN L
Y- PEVINTY
TNCSTR SO wFTLATE A

9

78.

79.

80,

81.

CIf ¥ 851 pe divided

82.

and

say that
NO such pair exists.

We can deﬁnitely

only one sych pair exists,
only two such pairs exist.
many such pairs exist.

MI8SIH 12 93, 3/4 % ST 3 g
‘wﬁﬁﬁw&a%mﬁma’rmm%:

: into three parts,
Proportional to 1/2 : 273 . 3/4, then the
first gart is:

(A) 296 (B) 222 (C) 333 (D) 396

@W‘raﬁ%m%w-w%.@vﬁﬁ%a
néaﬂtsu%ms\w‘rhﬁ% 25% @ Y
i Bt Jﬁ:tm@rt_:mzozs_ &
T | T e T 91 A A et Wy
TRART _
10% of people died due to cholera in a
village and due to that 25% of remainin
people left the village. ‘The population is
then reduced to 2025, Flrzg topiall number of
ople originally living in the vi age.

CA) 1500 B) 2000

5(3) 2500 D) 3000

MNP T YL oWy

DH-1
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I os.

84,

8s.

86. .

87.

. { P HETT N OF VR POV PR TI Vil 0150y 02k Ty
: - AN WPDIHNT PR PO
REN PECLH THFVE Fchy PRTLA TP

T i

(A) 66

33 ey
RUSCH

By selling 33 metres of cloth i
the selling price of 11 metreé.ogienga‘:}?:

gam €rcent,
A) 20% (B) 25% (C) 50% (D) 65%

3 syt

§ 420 more. Find the gy 12V fetched
¥ 7,500 D) %8000

P, Q 3R R vy ¢ 20,000
S I I % § | TEN F e p Y
¥ 5,000 fyeprey | Q 7 % 4,000 fyry 3k
Rﬁg_ 6,000 %t srfeam fray ey | 8 3
' DT T 2 34,950 w5f Ry
w1 fee wa R |
P, Q .and R started g business each
Investing T 20,000, After 5§ months, P

withdrew ¥ 5,000, Q withdrew ¥ 4,000
and R invested ¥ 6,000 more. At the end

of the year, a total profit of T 34,950 wasg
recorded. Find the share of P.

(A) 10,600  (B) 710250 |
(D) %10,800

e =

3T 59 8,

- The average of 11 results is 50. If the

average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(B) 8 (C) 110 (D) 107

9 I GUR TeT- 37 w1 :
mﬁ%: 9 3R 12 Tt # g
Hehd & | ¥ A TR 0 AR F Sri-
Torem feett & g v smem ¢

-Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectively. If they w_ork' for. a day
alternately, Diptesh be':gltr;nmg, 1;1 h(lj"\?'
many days, the work will be completed *
(A) }iO (B) 41/4(C) 11 (D) 43/4

DH-1 .

™ P

A T |-

89,

90.

91.

88. a1gEm 14, 10, 6, 2

el T

S€quence
38 (©)-42 (p) —46

@amanwm' 3
%%lﬁmﬁmﬁﬂvﬁgzﬂg
100 m %mnsus%ﬁm
TR 714 By | |
gular field is three timeg

The base of trian
its altitude. If the cost of cultivating the
field at ¥ 24.68 per 100 2 be ¥ 333,13

find its base,
(A) 30m (B) 60 m(C) 90 m (D) 110 m

e I 20 M/ﬁaﬁnﬁrﬁrﬂm%ﬁhaﬁ
500 3 61 28 7 3 et e oy o

How many minutes does Vandan take ¢,

cover a distance of 500 m, if he runs at 5
speed of 20 km/hr ?

A) 1 B)125C) 1.5 D) 175

T H. 91995
ﬁzoo7ﬁmﬁ:%ﬁm%ﬁmﬁm
ST 6T TG 3R 36 F Y g
|TAT 3T ST <9ifar & -

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

€xports from that company over the
period from 2001 to 2007 -

Fowrer al  foret e g s s
et 8 wer = argam

Ratio of amount of Imports to Exports by a
’ Company over the Years

@1 7% 2001

2
1.5 1.
1.5 2 <
14 0.8 /4/\(1’9/

- 0.6
0.5 - ‘/\\‘l}/

%

2001 2002 2003 - 2004 2005 2006 2007
T/ Year

ot e 2 <oy 3% forartr 3 e § o
AW o ?

The imports were minimum
pr«:)portionateh to the exports of the
company in the year

e 4 (B) 2003

02
o (D) 2005

(C) 2004
ENVLATRN G S PO SN AT TIOFR QOSTPREES TR G0N PRI e
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92.

93.

94,

9s.

El K

96.

fe e =t 3§ et 4 Pt o @

e o1 ?

In how many of the given years were the
exports more than the imports ?

a1 (B2 ©3 (D)4

3fe 2002 § FAH FT FETW T 260 Fre
o, T 2002 H et 1 frfer o

If the imports of the company in 2002

were ¥ 260 crores, the exports from the
company in 2002 were

A) ¥ 360 FU$ / T 360 crores
(B) 325 FUE / T 325 crores

(€) T310FUS / T 310 crores

(D) 275 FUS / T 275 crores
2003 & 2004 T TATA | e wfermar i

TFEE ?

What was the percentage increase in
imports from 2003 to 2004 ?

(A) 36
(B) 67
© 82 ot
(D) 31 J9AT &/Data inadequate

2004 T AT T 240 HUS. I i
e frafa 7 500

2004 3T 2005 H fieTeRt
U T, aF 2005 T AT o ?
(A) T200%UE (B) T 2508

(C) T420FE (D) T450 %S
If the imports in 2004 were I 240 crores
and the total exports in the years 2004
and 2005 together were T 500 crores,
then the imports in 2005 were

(A) %200 crores (B) 250 crores
(C) T420crores (D) 450 crores

95 3 ot g W A T T % @

oy HI gag A3 WE § AU 3 ¢

97.

98.

99

100.

féw mq o i, 7fx g

o Ty
¢ y 31 3= r 4

ERIE & Rt e n @

In the given figure, if Triangle represents

octor, Square represents Lawyer and
Circle represents Literate, then ‘what is
the number of those Doctors and
Lawyers who are Literate ?

3
6 \5

3
A3 ®s5 ©6 @s

AR 4 1 37 o, o S,
A weE R A~ F e R, @
18+6+7x5-2=19

If *+’ stands for division, ‘+’ stands for

multiplication, ‘x* stands for subtraction
and ‘-’ stands for addition, then

18+6+7x5-2= 19

Wi B8 ©20 D2
. =R fawedi § 8 § 18 amfa (X) v

T sfy ¥ |
Choose the correct mirror image of the
given figure (X) from amongst the four

alternatives.
o) [o UV el llo!
@M @ 6 @

%)
A a1 ®B@ ©E O @
frafofaa w7 #, ™ W= e @,

JHAR, |ieTET, |
Choose the \’/:qnlx?\dia am which best :wr%'araarzmﬁqmé,ﬁqﬁﬁ@ﬁq
: JE SISETIL. ANGR, St T Ieg & & H Hh T8 T
explains relationship among given items : - 2 | 97 w2 TG T |
Animals, Vegetables, Potatoes \ ) . .
o In the following question, one word is
OO0 O given, followed by four words, one of
(A) (B) O O which cannot be formed using the letters
' - - of the given word. Find that word.
L @ RECOMMENDATION
(C) (D) (A) MEDICINE (B) MEDIATE
ol O (C) MONITOR (D) COMMON
11 u ¢ DH-1
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101,

102.

& 1 HH |
T TS &Y T S R 9
Which one set of letters  when

sequentially placed at the gaps in the
given letter series shall complete it ?

_CB_CA_BACB_CA BAC D

(A) ADDBBB ~ (B) ADDDDB
(C) BDDDDB. (D) BBBDDD
fow e faebedi & & w7 wdt frer o3 o)

Choose the correct alternat;
ones that will complete the
12,23, 34, 45, 56 ™

ve from given
series ;

(A) 67 '(B)Y69 (C) 71 (D) 78
103. :W::W:(?)

A) (B)  Afatem

©) 3w D) T

Melt : Liquid : Freeze : (7)

A) Ice (B) Oxygen

(C) Solid (D) Pressure -
104, DBMS : SMBD - tJAVA : (7)

AVJA B) JAAV

C) AVAJ §D) AAV]

105. Tt Strpfir i ey o &

How many squares are there in the |

106.

followgng figure ?

(A) 12 (B)13 ©) 14 (D) 16

U SR o H Y& FT 3R 10 Redt

IfEH 6 AR T R, B o e 2 3

7 ferelt wreran B, fR @ ot mea € ok 14 |

foreft =reran 2, T amd e @ afk 4 ferhy
el @ SR 37d # 1¢ qgar § 3K 4 fery
m%lﬁ_wﬁrmﬁmﬁmiﬂm
27

A) 10fFH . (®) 11fH
(C) 14 Toprfi (D) 17 fert
A person starts from home and moves
towards west by 10 km, then turns right

“and moves by 7 km, again turns right and

DH-1

moves by 14 km, then turns left and

moves by 4 km and at last turns left and |.

moves by 4 km. Hcr)?w far the person is
from home position ?

(A) 10km (B) 11km

(C) 14km (D) 17km

. ” FFE PO PO TRV AOH PEOEN TV CRNPOVLNTIVE TONPRGTNTE F
AN PEDENTIFE AN $PILHTS
T RONPIENTIFR L4

aﬂémﬂi@mﬁf@a-

IV. & | 300 Ieareshar st |
(A) e 13RI Ao & |
(B)  hefet 11 37 1T wereq € |
(C) %aet [l Heg 2 | |
(D) %3 IV A 2 |
Question given below consists of 4

statement, followed by four arguments
numbered I, II, III and IV. You have to

" decide which of the argument(s) is/are

‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives
given below the question :
Statement Should people with
educational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments ; '

L No. It will further- aggravate the

problem of educated unemployment.

I Yes. It Creates complexes among

employees and affects the work
adversely,

II. - No. This goes against the basic
rights of the individuals,

IV. Yes, This will increase
. productivity.
(A) OnlyIandII are strong.
(B) Only I and III are strong. N
(C) Only Il is strong. ‘it
(D) Only1Vis strong.
B =
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108. = T T 597 F wh e 3k
o 1t 3 et o | o
wyq 3R fAfeiad gronslt w

FET & AR v o 8 e i oft eromd

.

qEFTLHFATR |

FaeT 4T |
FaeT 47N 11 3rafifea 2 |
i [T 11 STt & |

Zal 1 AR AR I FafEd @ |

he question below 2 statement
two assumptions numbered I
en. You have to consider the
statement and the following assumptions
and decide which of the assumption/s
is/are implicit in the statement.
Statement : “If you trouble me, I will slap
you.” - A mother warns her child.

Assumptions :
.  With the warning, the child may

(A)
(B)
(€)
(D)
In t
followed by
and II is giv

II.mﬁa’% : YR o
ﬁ%%%l a—aél

iy,
5. g fpelt e 6t 2 o ot d %
gﬁﬁﬁ‘é,a’rmwﬁaﬂaﬁgmﬁ

6 aﬁgia:;—gﬁ'nﬁ |
SR foqT 97 &
ﬂmmw%ﬁﬁﬁgg
2 3T R Sudiart foram o R o & |
7 ;ﬁ;{:ﬁmw*mﬁ,ﬁmﬁz
@ﬁwﬁmﬂ%,a’rmﬁwas
%,mﬁ@ﬁmﬁﬁ@
T GaH e o g A v 2 |
mﬁﬁﬂﬁﬁﬁwﬁﬁﬁuﬁ?ﬁmﬁaﬁfﬁ
qHel W Ht 3 7@ = 5w G
31C/41 PF & fore amr g A e |

Q. Nos. 109 to 113 : Directions : Read the
following information carefully and answer the

questions ;
A company has following Gratuity (G) and

Provident Fund (PF) rules: ,

1. An employee must have completed one.
yeeg}’:s service to be eligible for either G
or PF. :

2. An employee resigning or terminated or
retiring after ten years’ service gets both

stop troubling her.
. All children are basically naughty. | . G and PF. S,
(A) Only assumption I is implicit. 3. An employee terminated or retiring after
(B) Only assumption 1 is implicit. five years but before 10 years’ service
(C) Either Ior Il'is implicit. gets both G and PF, but that resigning
(D) Neither I nor 11 is implicit. during this period gets either G or PF.
5. . 109 @ 113 : A : Frefefea sEedE 4 An employee terminated or retiring
e q_% S e % IS ; before 5 yez_irs’. service_: gets PF but not G;
@Em ES iiﬁr % AR F{‘ Fegdt (G) N S & 33&&? é’@;é%l};gg during this period gets
fafr (PF) W‘ﬁﬁq;}?’ - 5 However - |
1. Tt et 1 G A i - .
fora e 1 aa(_}[ g{iﬁ TAEHF |5, in case an employee dies after 2 years’
L aq?ﬁ AR Eﬂ% gt élﬁ -  service, his family gets both G and PF.

. 3 by aﬁsR mﬁ' |:°5| a1 |6. in case an employee was on leave
et @ TE A without pay; such period is deducted
Qﬁaﬁmﬁ # G 3K PF Hl e 8 | from his total years of service and then

3. s aE, A 10 IS FIFTATERS | above rules are applied.
k| e 71 A g a’@ﬁ?‘[ C] 7. in the case of a lady employee, if she has

MY T et F G 3R PF gF1 fierd 8, completed 2 years’ service, two years are
SfpT 59 7 o SR FAHT 2 9 B added to her actual service before
IIT_:E % mi%% PF fierar 2 | ggﬁgclilélg t{hﬂ above rules, as a special

4 5 B ation.
31 ST @I PF fire 2, @fed G :%ﬁ Apﬁly the above rules to the cases described in
e 5 ot 3 2N BF_hW el ﬁ’ \i?lf thOf the following questions and decide
3 G P & ikt & PR iy il 1(3) X lfilc’) tthe employee is eligible for G and/or
E,. A B e e T a * owrﬂsﬁa'c.-s Pl OEN POGEN TPV AN e
I 3 X = IROTEH TRV AN PETLH TP R CAN POWENTOVR
' DH-1
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110.

(D) ifboth G and PF can be given.

111.

(D) R G 3 PR Ru ey § |

service,
(A) ifonly g can b

if only pPF can
if either G or

€ given,
be given,

I
(D) =it G 3k
Mr. Ashok was
after ten years. |
(A) if only G can be given.
(B) ifonly PF can be given,
(C) ifeither G or PF can be given.

PF 2N R ot w4 |

terminated from service

et Tmt ¥ S T g

B I AT R | |

A) IR FTAGHAMEHRD |

(B) f¢ aet PF fean g 2 |

(C) aﬁcmwﬁﬁﬁé@ﬁww
ghar 2 | -

Mrs. Verma served the company for four
years and resigned. _
(A) ifonly G can be given,

(B) if only PF can be given. .

(C) ifeither G or PF can be given,

(D) if both G and PF can be given,

112,

113,

 deha

FHA A HH ¥ e T o
N AT o ¥ 7 3

mm:méﬁm,mmn
Nﬁﬂﬁmmmmm

(A) ‘Iﬁ%aacamm%l
(B) TR 3t PF o s w4

T T TR
W oot g 3

| (C) qﬁ??ﬁ(}"f{?ﬂm%aﬁ{qapp

fear s wwar |

D) R G @ pr 3 3
qHar g |

Akshay worked for
Seven years and evep
to a prolonged illne
years, during which

B T R

the Company for
tually resigned dye
ss that lasteq three
he was on an unpaid

if oﬁly G can be given,
if only PF can be given,

if neither G nor PF can be given,
if either G or PF can be given,

aﬁnaﬁaaaﬁm:‘smaﬁmmml
SRR W A | s, o)
Tt femm |
®) Hﬁ%m(}ammél
(B) a&mPF%mmm%l

(C) !r%GmPFﬁﬁﬁév@ﬁmm
THaTR|

(D) H&Gaﬂmaﬁﬁqmm% 1

. Mrs. Deval worked at the company for

three years. However, during 3/2 years of
that time, she was on unpaid leave,
Eventually, she was terminated from the

job.

(A) ifonly G can be given.
(B) if only PF can be given. |
(C) ifeither G or PF can be gl‘ven.
(D) if both G and PF can be given.

|

-

"

L]

Vi 00N POUEN VR
) . TP A FANPRTTATROPR

P A NP, TTN TS P AN POGIA TEF K FON POWLA TV L

Vi ORI TEFE PG R (BN POTTN TS & N PRTLNTE P AAN PAOTTch

y K PO

5 : N PRI

VTN CEFR OB PEDLN TSP GO

AN PEUT

DH-1
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114.

115.

CONPRTLHTIVR O P HTLN

(B)

D)

3 T gRe st 3w # A

@Wﬁmmﬁ%aﬁ%

el % 'y ¥ sy woIcfeT H

fRTard 1 | T & IWR, ST :

(A) AR 6 e T ge A B
TSACHS AT 18T |

(B) TEIE ¥ F@-far w wEuH

FET TRY 3R Jufe T IR

T TR |

FTR IR 3 F 3MUN T AR

F FER ST A0 |

e forar Y Te 9 & T w A

1 T St =T |

©
(D)

You are stationed as a police officer; a

woman reports phone harassment of her
minor daughter’s intimate photos. As per
law, you should : |

(A) Ignore the case a

the minor. .
Caution the minor's

file statutory charges.
Arrest the accused based on caller

ID traces. -
Advise parents to
daughter.

m@g%ﬁamlﬁ%mﬁmé;
et Hifear f ,
F@ Y FARHA TeATdD
%7 T el & | ST :
() FEd dve W@ ww F
| YRR 1 RO T T |

(B) s wReE w owEE &
STISRT <Rl ATEA T AT |

(C) see Al & oreurdt Fere

ttributing fault to

(€)

‘counsel their

(D)
F @B AR
You are stationed as a police officer;
social media monitoring reveals plans for
unauthorized political  rally violating
prohibitory orders. You should:
(A) Arrest organizers for subversive
social media posts.
(B) Engage organizers to explain order
©

restrictions.
Request temporary suspension of
D)

internet services.
Deploy forces to firmly deny entry

points.

parents and .

116.

e 1 Jeare,
Icft &1 AT

T =18 | , 3
ﬁ@uﬁﬁmﬁﬂﬁ%maﬁ

117.

(A

()
€

am-waur 8 H RyE wqE % Eef,

e fres TeE A0 T % fero, st

(A) @mfra TRl A e difgn
BRI

fora Praees firerfeat Fe =1fE0 |
g aEr # @ T
ST AT T =T |
st Rearg @ A w0
s 3ot & forw amal < ST
ST =fey |

As station head in a riot-prone area, to
uphold communal harmony, you should :
(A) Monitor social media profile of

potential troublemakers. :

(B)

Make preventive arrests to avoid
_ breach of peace attempts.

(€)

(D)

(D)

Impose prohibition orders oOn

dangerous weapons’ possession.
Arrange  talk  for inter-faith
confidence building measures.

3y T g ST % w9 H & E;
et S—ead YeTge eIl shi IEEH
w?r%s%m,amaﬁ:

(B) e e T WA I
e SR S oh el T ST |

1 Forga S =TET AR o

gie & faskar S @ral @l
freeror AT =1feY |

(D) Tt Ffd TS WA GeeH

- 3fR Y W feEy S e |

You are stationed as a police officer; to

identify fake e-commerce website

scammers, you should : |

(A) Monitor online purchases of all

citizens in the region.

Assemble ethical hacker teams to

trace site registrations.

Hire hackers and analyze vendor
bank accounts without search
warrants.

Ban all unauthorized
shopping portals and apps.

(B)
©)

online

(D)

£t N PRTENTLTH PN PN TI Vil PO POV TR F K| .
TIFL SONP " < PR OON POVEN THFR VK PSWIIHN S P N POWEN IS G0 PG TP S P RTEA TP SN PRIWESN T
< =t NEEYR

DH-1
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" You are an Investigating Officer; a

- (D)
119,

O PSS

DH-1

i &9 8 FfSkr &1 e w65 iR
™ R T 1T & SR e = |
(D) WF® P ST H g

~ wﬁmmﬁaﬁzﬁmmmﬁq

celebrated spiritual leader 1s implicated
in a sexual abuse scandal and requests
quashing - of legal complaints  filed
offering blessings and funds for good
causes backed by you, You should :
Partially ~assist the leader
hmltmg trial damage.
Commit to impartially mvestigating
as per procedure, L
romise inaction legally but aig
secretly in access to victim,

Personally  conduct - prosecution
Violating standard norms, o

1% T A st w

'in ,
(B)
(9)

ST 1 I e |
When investigating online radicalization
cases, you should : :

Cct as undercover agent posting
inflammatory posts to attract
responses. :

court

Obtain approval  for
psychometric analytics to be run on
such subjects. '

Share ~ concemning
snippets on - officia

u I?c vigilance, ‘
se specialized forensic coungellor

(B)

©)

unverified
channels for

(D)

insights for pattern analysis.

TEVR PO pRBLATIP A CONPEUL Ty BTN P

TATEFS CONPOWENTT TR FOH PATN

16

TEVR N PG Y,

(B)

(D)

You are an inspector in a crime branch
unit that deals with organized crimes and
gangs. You have been working in this
unit for the past three years. However,
due to a policy change, you are
traiisferred to a women’s cell
have to deal with cases

women’s safety and €mpowerment. You
feel that this is a less challenging and
rewarding work. You should:
(A) Challenge the policy change and
argue  ‘that your skills and
eXperience are better suited for the
crime branch unit,
Accept the policy change and use
your skills and experience to deal
Wwith the cases in the women’s cell.
Accept the policy change and try to
maintain  your contacts and
involvement in the crime branch unit.
Accept the policy change and look
for ways to get back to the crime
branch unit as soon as possible.

N OON PIEATRI N RA OWTA TV AR PSR TP AR PNV

where you
related to

(B)
©

(D)
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121, TEE gmﬁmﬁwmmm

?WW@W%WWW
& e A w9 % fu gfer #)

. geaFA @ st |

(B) qﬁawwﬁgaaaﬁﬁgqﬁf‘m
ST AT IfRT |

(©) mﬁammﬂﬁm%%q%@qﬁ
T YR HI=T =1y |

(D) wmﬁmmﬁwma"m%aﬁa

%ﬁﬁm&ammﬁqi |

A national security priority manhunt
enters climax when your spouse meets a

serious accident requiring surgery. You |

should :

(A) Delay informing family to avoid
distraction. :

(B) Take brief leave
operational coordination.

(C) Handover full charge to deputy for

' family priority.

(D) Strategically  allocate expertlse
areas among wider team.

deputmg

122, T e st % w9 8, oo e 3

_aammm&fmqmmeﬁ‘qﬁﬁqﬁ

HAE | IR i

(A)maﬁaem qtam?vnsq
Whrset fme et =nfaa |

(B) MM WRe-3%H F §Y IgHTMT

_ E & EIOT T =R |
P R U il G LAY

ek w%mﬁwmwmﬂwﬁ

Wﬁm J@A Bl WA A gL
Pl Fiq-uifife WA 98 @ amﬂm
m'ﬂ%ﬂﬁ '
As a police officer, minorities in your
district report experiencing religious hate

crimes. You should:

(A) Online profile surveillance on
radical ideological groups.
Fast-track prosecutions announcing
exemplary sentences. _
Implement district cyber patrolling
to mass report hate posts,

Organize inter-faith peace initiatives
involving community leaders.

(B)
©)
(D)

THFR AN PRI AT ST e

123. ush qfrE sfemd % g

- e OFTENT
4de 17

=
iRt % faems T[Fgm %ﬁ%

AR B wrRea Wiy =

S E | o =t Ry R

(A) U F A FR 7Y i

- Rrpraa wfifa &1 e Fom=nfie |

(B) w3 ¥ W fom waefierar wfiram
AT TR T 1 |

(© s yfvEa ¥ o e
TRV 1 ST BT 17w |

(D) mgﬁrﬁ‘aﬂmﬁ@mﬁaﬁ

qﬁﬁﬁﬁﬁaﬁiﬁmaﬁm
As a police officer, you notice workplace
sexual harassment complaints from

women  constables  against senior
officers. You should :

(A) Setup - internal complaints
committee promising action.

(B) Implement mass gender sensitivity

training modules.
(C) Enforce transfers of implicated
- personnel from command roles.
(D) Refer cases to external agencies
ensuring confidentiality.

. T g st % v H, § Rrefiied

BT ST 1 HaTw g T a5

(A) T IS e & Read Tl e |

(B) VeIl i o ¥ 3 % forw vt
TN T | -

(C) AT GEAT S} TR F |

(D) TR W o e g W

R Lcod |
As a police officer, I can best
demonstrate. patriotism by :
(A) Accepting bribes from law
breakers.
(B) Using force to subdue protesters.
(C) Safeguarding democratic
institutions.
(D) Imposing my religious values on
- citizens.

M TP R SN PR H VR AP POEN IV (AN PITESTIPR AR PEEEA TP FA WL TIFR LN PRI T A 6N POE T F @
DH-1
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g%mﬁmwm_

our skills and knowledge,
' %h?::ll:agcf: eth3£: following is'the name of

the Indian Police Service Officers ?

(A) National Police Academy

(B) National Defence A,c_adcmy

(C) National Security Guard Academy
(D)- National Forensic Science Academy

126. T gfr siitemnlt 3 &0 F, S0 s e
» ﬁﬁﬁtaﬁ,-éﬁ%maﬁr@mgﬁ

7 T 0 HT o 4 |

T wiokamant %
=

As a police o

fficer, you get a panic call
om a b you g p

1 manager about an armed
robbery in Progress with hostages. As per
Standard Operating procedures, which of
ﬂ:)se should be your immediate response ?

RI_JSh to the crime scene directly
Without back-up '

(B) Inform and coordinate with other
- €mergency services
(C) Set-up perimeter checkpoints to
_ isolate the area | .
(D) Use social media to gather public

~ information

Aoy, . RLATEYR
- C Ny ATEEVR AR B
&y ‘ 3 ST FA SO WA TV P
v&&m L PO ATS VL O P 18V PO CEFR CON PHTTHN TS VA RO PO
FOTR PBN P RO TPl GO PICTHN TV PO PO TR ¥ (RPN P oy .

-

ice officer, you are required_ to
Asd:rggl§2ﬁ06i° tr’aimng and evaluation -
un

the institution that provides training to !

128,

129,

|10,

-

%2 § “TEMPLE =y

certain code “CHUR ;
- “SXIFSX”, how woul
Written in that code ?

131.

w7
(A) 2 ferft (B) 11 fsft
(C) 13 foeht (D) 16 fosft

A person moves in north direction b
7 km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns left and moves by 4 km. I:?Iow
far the person is from initial position

(A) 2km (B) Ilkm

(C) 13 km (D) 16km

a
18
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: » ToH 5 Ry {134 T T T &
9T
%_mgmmﬁa TE R |3, e oy %'Wﬂﬁa@ﬁﬁqa@%?:? .
gﬁt@,iﬁﬁélnﬁa,@ﬂ% %@Fﬁ%?ﬁﬁsﬁ;ﬁm ngw
SRIECE ?
A) wE An accurate clock shows 9 ¢ clock in the
B) w0 will g% Th

ock in the afternoon on the
: same day ?
D) Fuitg w5 o5 1 ey |

(A) 1650 B) 170°
: (C) 1750 D) 18¢°
a1s Pramod’s sister,

niece. Shubha is {135
Prema’s daughter, Ho

s Rabul relageq | " ) B AR R
W 18 anul re ate 5

to Shubha 9 mmmi :

(A) Brother . o | Study the followin

(B) Cousin |

g figure and answer

- the question given below

() Maternal Uncje

‘ ' | B ""mﬂ?ﬁﬂlmoe cople
(D) Can’tbe determined ~ - , A O Employed peop
133. afg g “LINGUIST” % ugat! it 3R ‘v O = fotam ) Buowarg peaple
B3 FEl W sih SUHTET . sfge A-*ﬁma’m/mucaxcdpeopk
mﬁaﬁmﬁﬁaaﬁﬁﬁm N ﬁﬁﬁmﬁ“ﬁm“ﬁﬁ?
& wmw st =iy I AT st = sy | How many backward people are not
ST mm«%a‘ﬁsmaﬁ educated ? :
amﬁﬁa:aaﬁmm,?hwﬁam% s B) 17
TR M oS o & e By e || (© 2 ®). 12
(SHEA ot sfen 3 aram) & 2 136. et % 4 9 1 s g, e,
If first, third and sixth letters of the word - @ % e gEy ) T 3=t T@® Tt
“LINGUIST” are changeéd to their 3,
immediately preceding letters as per _ _ ;
| English alphabet series and fourth and Which of the following diagrams best

seventh letters are changed to their indicates the relation between Sea, Earth,
immediately Succeecling letters as per- Sun ?

English alphabet series, then hov.v many | O
letters are there between the third aqd (A) (B) O O
fifth letter of the newly formed word

<

= (according to English alphabet series) ?

(A) 6 B) 7 : ©) @O (D)
© 8 ® 9. -

¢ FE NP P HeMIE L3 (4 o WEN TSR ONP & A SO POWZA TN SR IR TEYA SN, AT VR SR L AT VR
A7 TH P PENPEOWIHTTFL (SN P 3 AN PIUTATS VA O .} WA T A
I T X Ly W « AR PERTA T A 3
' JL: =
' -
PETLHNTROTL
PIEGLANTEIFE OV
FONPRILH THFE PO

DH-1
‘ 19
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139. @wm%maﬁa‘aﬁsw,

younger than R, R is yungr thar
then who among them is youngest
A) G (B) K
(©) R‘ (D) A

ﬁsls‘m:ﬁaﬁtiarélﬁm%mﬁzﬁxlﬁ:ﬁ
maﬁ‘cﬁ%ﬁﬂéin'ﬁfﬁnq% |

| 6mx1mmaﬁa‘tmmhﬁ
ﬁm%w#ﬁwﬁrﬁmmﬁﬁm -
RUAR TS | S T (6 8eft o oy |

IR ) 1atngm.a1ﬁ6ww,ﬁ,
(4 St o Y aik @) 1 9} o Tt 4
TR g e g

B ot o & Aot & o e i o |
T ) S .

A cuboid shaped wooden block has 6 ¢cm
length, 4 cm breadth and ] cm height.
Two faces measuring 4 cm x | cm are

- coloured in black. Two faces measuring

6 cm x 1 cm are coloured in red, Two
faces measuring 6 cm x 4 cm are
coloured in green. The block is divided

.into 6 equal cubes of side 1 cm (from 6

~ ¢m side), 4 equal cubes of side 1 cm

(from 4 cm side).. -
How many cubes will have green colour

.0n two sides and. rest of the sides having

. nocolour ? 2 4
A) 4 B) 8
© 10 D) 12

3. e s o |

- A health-conscious individyal i
remember the hotline numpe
~ recently

consultation  service. He rome
following points: b
1. The phone number starts wit

‘2. - The phone number ends with
4 3:- The fourth digit is either 2, 4 ¢

dd old
T =T 987 H :
M 78R 652 1

SERNR

 WTTEEAR | _
39, T ot W e i ag

established

and not repeated in the digit of
numbers. :
4. The fifth digit is the product of the
~ last digit and the fourth digit.
Now, considering these conditions, the
individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one, \ ;
(A) 98762652 (B) 98748652
(C) - 98724652 (D) 98764652
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In the question below a statement followed
by two conclusions numbered I and II is
given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which
of them logically follows beyond a
reasonable doubt from the information
given in the statement. :
Statement : The interview panel may
select a .candidate who neither
possesses the desired qualifications
nor the values and attributes.
Conclusions : :
I.  The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper.
The interview test has certain
limitations in the matter of
selection of candidates.
Only conclusion I follows.
Only conclusion 1I follows,

Both I and Il follow.
Neither I nor Il follows.

11§

(A)
(B)

IL

(A)
(B)
(©)
(D)
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Choose the alter.nm'w;l; which i losely
resembles the Mirror image of the giyen

combination.

FIXING

(A) GNIXIF  (B) DUIXIF
© Tixmo (D) DUIXIA
wmﬁﬁmﬁl(xﬁﬁt{mgﬂrﬁﬁ

(1), (2), (3) 3 (4) # B H H ST

TS AT B |

Find out which of the figures 1), (2), 3)
and '(4) can be formed from the pieces

given in figure (X).

B 0| —
ﬂ“ lt’.'i
| X) @ & @
@A) 1 3) @

O 3 D) 4
wﬁm‘iﬁ@tﬁaﬂﬁ%msﬁzaﬁ
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Find out from amongst the four
alternatives as to how the pattern would

appear when the transparent sheet is
folded at the dotted line.

N

Prescerenan,
.
-

A LI
X (1) @ 4)
A ) B 2

(D) @)
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. Which of the following option would be

THAT FET 2 RS, X HIAMIR I T, RQA
fora TR HEfta R 2

(B) ucft

(C) w& (D) wi§

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mothq ~(B) Wife

(C) Sister (D) Brother
frefefea 3 & =17 @1 feren A9 Ru o
YR} 1 ETedh T B 7 |

1. g 2. W@

3. H?R?:F. 4. TR

meaningful order of the following words ?

1. Infant 2. oM 3
3. Adult - 4 Adolescent
5. Child D, TR
A) 5,4,3,2,1 "(B) 3,4.2.1,5
© 1,54,3,2 (D)23451_

DH.{

C5v,
® P, [ AN, Yo
TENCIPR eipen PEWE TSV O POITNTTR O PELI I 0

148. asaﬂ?ﬁ‘ﬁwﬁ FaAREE

Choose the figure which is different
from the rest,

S el

D @ @ @ ¢
@ ® @
o6 ® @

)
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There are 8 members in a friends group
who greet each other on the Deepawalj
day by sending cérds. How many
greeting cards will be used for this
purpose by this group ?

(A) 50

(B) 56

© 60

64

T I 5 A, 4 AR 39 2 WS S
e 2 12,900 wfe 2 | AR R ¥4 @)
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firerat &, A el 30 % Rece frerar 2 2

A man divides ¥ 12,900 among 5 sons,

. 4 daughters and 2 nephews. If each

~ daughter receives four times as much as
each nephew, and each son receives five
‘times as much as each nephew, how
much does each daughter receive ?
(A) %900
B) 21100
(C) ¥1200.
(D) T 1500
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